45

10 |§Qi

10

45
130

d
35 | 40

75

40 | 35

75

1:5

DETAIL 2

80x80x6H

75 PL 6 x 75 LONG

FULLY WELDED TO 'a"
WITH 1-12 DIA. HOLE
FOR 1-M10 BOLT

(No. REQUIRED : 8x)

SEE FLOOR LAYOUT FOR
POSITIONS

COLUMN

FOOTING.

BASE PLATE DETAIL 1

1:5 (4 OFF REQUIRED)

A DISTANCE OF 50mm, COMPLETE
WITH NUTS AND WASHERS

80 x 80 x 6 HRA BASEPLATE
TO BE WELDED TO THE COLUMN Q
AND CASTED INTO THE CONCRETE ~

75

50 F 5x 100 LONG

/ WITH 1-12dia HOLE

FOR 1-M{0 BOLT
|

2 _<|B

50

45

175

o
(=]

n6

\ ,
\_1-16dia HOLE

lq FOR 1-M14 bOLT

COLUMN "a" TO BE CHAMFERED TO

FIX DIRECTLY ONTO FRAME "c".

DETAIL 3

1:5

M10 U-SHAPED BOLT HAVING
125mm LONG LEGS OF WHICH
THE ENDS ARE THREADED FOR A

140

38 65 38

20

70

80 x 80 x 6 HRA 100mm LONG —
FULLY WELDED TO 'a’
WITH 1-12 DIA. HOLE
FOR M10 U-BOLT

80 80

(No. REQUIRED : 6x)
SEE SECTION B-B FOR
POSITIONS

PIPE CLAMP DETAIL

1:5 (6 OFF REQUIRED)

500

200

200

100

50mm WIDE x 70mm HIGH x 140mm
LONG SHAPED MERANTI BLOCK
HAVING 2 x 12mm DIA. HOLES

- 50 F 56 x 100 LONG
WITH 1-12dia HOLE
FOR 1-M10 BOLT

TOP FLANGE OF HRA TO HAVE

125

11-12dia HOLES, ENDS SPACED
AS DETAILED THE REST AT 200mm
CRS FOR 11- M10 BOLTS FOR

80

DRILLED FOR ANCHOR BOLT

FIXING OF 125 x 50 x 20 x 2 CRLC

40

25
105

40

75 PL 6 x 75 LONG

FULLY WELDED TO 'a'
WITH 1-12 DIA. HOLE
FOR 1-M10 BOLT

(No. REQUIRED : 8x)

SEE FLOOR LAYOUT FOR
POSITIONS

MOD NO. REVISION 8 DATE e

SCHOOL SANITATION
PROGRAM
LIMPOPO PROVINCE

LIMPOPO PROVINCIAL
DEPARTMENT OF EDUCATION

MVULA TRUST

9A LANDROS MARE STR
POLOKWANE

0699

MRS

LIMPOPO PROVINCIAL
DEPARTMENT OF
EDUCATION

3m HIGH ELEVATED TANK
STAND:
CONNECTION DETAILS

DRAWN DRAWING NO.

caecrE MVULADL0-11

soae ows | | 1 1 1]

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.pdffactory.com

